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By a 2122 outside the land of Israel - ORD PIma 11922

OVERVIEW

X1°27 explained that there is no contradiction between 1"7 who maintains that a 7122
N7 7A12 s not 2°H¥2 17 since it is 72772 "X, and °2°%37 °"1 who maintains that a
7102 is @¥Hva Nnn; for *2°5a1 " is discussing a "2 22 which is not [really] "R
m2pn. It is apparent that both 1"9 and °7°937 °"3 are discussing a ™52 which is not
127P72 MIRN; T 7212 1" and 2% " in "0, Our Maon will explain why did they
not both discuss the same case; either "2 or 1'"712.

Mmoo anticipates and resolves a question:
- '95y5 1PYrY915 NP DINTYT NIMITT DIYN NN 1T 915932 NN NYT XD

The reason X127 did not answer that °7°937 °" is discussing a 3''7723 7122 (as 1"
explained); that is because the 7122 was taught in a case which is similar to the
zonow as I previously explained (that it can only be n°277 112).

mooin deals with the same question in reverse:
= NIND NINA 91922 919919 281 1IN DIYHT 11N 249 YaN

However previously 1'% could have established the 71wn of "1 an 7132 to be
taking place by a ®''m2 9122 (as X127 explains *2°937 °"). It would also be 727p7 "X K.

mooIn responds:
£ P32 99932 TINRYNY NYY NN 2‘,71'\1‘1 NN DT HaAN

However that would be ‘pushing’ the issue; 1"7 would rather establish the 71wn
to be discussing a 1'';77112 7122, than a 52 Md2.

SUMMARY
"3 2" cannot be discussing T"772 7102 since the 7102 is MHWT XoMT; and 1"
would rather have the 71wn discuss 1"7712 than %", which is a prT.

THINKING IT OVER
mMooIN mentions only the reason of 'D%wT XM7', but not s”"w1 reason which he
mentioned previously;® why?!

2Ry 77 moon. See “Thinking it over’.

% The o'xin lived (mainly) in *"X. It would seem odd that the 71wn should be discussing a case of 2"y1. However
concerning the Xn*>72 of 2"71°7, it can be referring to 2" because either: a) there is no other option, or b) some 2°X1n
of the ®n>»12 lived in 2"1. See n'"m1.

? See footnote # 1.
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